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$ ps —ef

PID PPID © STIME TTY TIME CMD
r@@t 1 0 0 &prls ¢ 00:00:04 1t
root 2 1 0 &prlz ¢ 00:00:12 [kflushd]
root 3 1 0 &prlz ¢ 0000200 [kplod]
root i3 1 0 &prl2 7 00:00:10 [keswapd]
root 5 1 0 &prls ¥ 00:00:00 [mdrecoveryd]
root, 102 1 0 &prl2 ¢ 00:00:00 fusr/sbin/apmd -p 10 -w 5 -W
bin 201 1 0 &prls ¥ 00:00:00 portmap
root 266 1 1 bprlz ¥ 00:00:00 ypbind (master)
root 273 266 0 4prli 7 Q000200 ypbind (=lave)
root A0 1 0 &prlz ¢ O0:00:00 syelogd —m 0
root 316 1 0 é&prls 7 000000 klogd
daemon 330 1 0 &prlz 2 Q000200 fusr/sbin/atd
root 344 1 0 &prlz ¢ 00:00:00 crond
root 362 1 0 bprlz 2 00:00:00 1netd
root 376 1 0 &prl2 7 00:00:02 sntpd -4
root 2490 1 0 &prlz ¢ 00:00:00 1pd
root 418 1 0 bprlé 7 00:00:00 gpm -t pe/a
root 451 1 0 &prlz ¢ 00:00:00 smbd -D
root 453 1 0 &prlz 7 00:00:00 nmbd -D
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class MyThread extends Thread{
static int a=0;

... tun(){
for(int 1....){

.... main(....){
new MyTW

new MyThr start();
new MyThreadO- '
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i th=new MyThread()

l th.start()
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public class NumOut extends Thread{
private int 1d;
NumOut(int id){ this.id=id; }
public void run(){
for(int i=0; 1<10; 1++){
System.out.print(id+" ");
b
)

public static void main(String|[] args){
new NumOut(1).start();
new NumOut(2).start();
new NumOut(3).start();

h
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public class NumQut extends Thread{
private int id;

private static int max=30;

private static int tnum=4;

NumOut(int id){ this.id=id; }

public void run(){ [S1Ed tcsh
. P - [kaiya@ed=1T ™% java HumOut
for(int i=0; i<max; i++){ 111111111111111111111111111111222222232727
NI R 222222%2%22222222222223333353333333335333333
System.out.print(id+" "); 55355555535 444a44444444a444a44442444424441
} [kaiya@ed=1T 1% []

}

public static void main(String[] args){
Thread.currentThread().setPriority(Thread. MAX PRIORITY);
for(int i=0; i<tnum; i++)
new NumQOut(i+1).start();
h
}
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public class NumQutYield extends Thread{
private int id;
private static int max=30;

private static int tnum=4; [kaiya@eds13 ~1% java HumOut
11111111111111111 1111111122222222322
2222222222222232272 333333333333333333
s (it ; s s 3333333333444444444944444444444444444444
NllmOlltYIEId(lllt ld){ this.id= [kalya@eds15 "% java HumOutYield
1111111211211211211211211211211211211211
2122323232323232323232323232323232323334
ublic void run 4434434434434434434434434434434434444444
p . . ) (){ . [kalya@ed=18 ™% uname —a
for(int i=0; i<max; i++){ Linu eds18.cs.shinshu-u.ac, jo 2,4,7-10 #1 Thu Sep 6 17:27:27 EOT 2001 i686 unkn

...:”:l
=

System.out.print(id+" ");

yleld() 9 [kalya@ed=1T ™% uname —a
} Linus ed=17T.ce.shinshu—w,ac,jp 2.2,16-220LL8 #1 Thu How 9 02$19:07 J5T 2000 i5=26
Unknon
} [kaiya@ed=1T ™]% java HumOutYield
1111111111111 1111111111111111122222222272
2RI I33I3IIIFISFIFIF33IIIFIIFIFIE
333333533334 44444444444444444444444444444

public static void main(String| [kaiyagedz17 “1% []

Thread.currentThread().setPriority(Thread. MAX PRIO
for(int i=0; i<tnum; i++)

new NumQutYield(i+1).start();
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e sleep(long x): Thread 7 JRIZEZINTH
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- BIZIE, SUFLIZFELEFRZEZT-L\S
8, L TDEIGISREFRT HGE.

import java.util.*;
class Waiting {
private Random r;
Waiting(){ =new Random();}
void wait(Thread t){
int w=r.nextInt(); w=(w>0? w: w*(-1))%500;
try{ t.sleep (w) ; }catch(InterruptedException ¢){}
;
;
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import java.util.*;

public class NumOutSleep extends Thread {
/| R
private Random r=new Random();
/| R
public void run(){
for(int i=0; i<max; i++){
System.out.print(id+" ");
try{Thread.currentThread () .sleep(r.nextInt(2)) ;}
catch (Exception e) {}

b

b
/] HRE

b
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synchronized 7 By D

e ™ get Inc extends Thread }
Counter
set +1
private int ¢
{
int get() * Inc extends Thread J
BEcERYT [ set+l

void set(int)

EZclZtybk ct
Q:?E%E;TT y set - Inc extends Thread
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class Inc extends Thread {
a]iizS

// B

public void run(){
for(int i=0; i<often; i++){

nt

tmp=c.get();

tmp+-+;

try{ sleep(r.nextInt(2)); } catch(Exception ¢){}

c.set(tmp);

b
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public void run() {
for(int 1=0; 1<often; 1++){
_— synchronized(c){

int tmp=c.get();
CDNEDE I, tmp++;
ADVARBZVR ¢ & — try{ sleep(r.nextInt(2));}
ZOWNIBEITHSRALYR catch(Exception €){}
[CHBEINS. c.set(tmp);
~ }
h
h
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Counter
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% Inc extends Thread }

private int ¢

\

int inc()
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Inc extends Thread

/
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\’E Inc extends Thread }
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class Counter{
private int c;
private Random r=new Random();

EEI-

public void 1nc(){
int tmp=c;
tmp—++;
try {Thread.currentThread().sleep(r.nextInt(2));}
catch(Exception ¢){}
c=tmp;
System.out.print(c+" ");
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class Counter{
private int c;
private Random r=new Random();

- synchronized public void inc() {

Int tmp=c;

tmp—++;

try {Thread.currentThread().sleep(r.nextInt(2));}
catch(Exception ¢){}

c=tmp;

System.out.print(c+" ");
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wait, notify, notifyAll
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Producer

Customer Stock Customar Producer
12 Stock

15 224
12 316

12 La 30 234
18 313 1593

Quit |

[*]Ed tcsh
[kaiya@eds1T ™/tabaco]® java TabacoSale 2 3

Harning: Cannot convert string "-wadalab-mincho—r
1200208, 1983-0" to tuype FontStruct

I

[kalga@edslT Itabacu]% Jawva TabacuSale 23

el T a3

| Memmmd —mmimmd —dm
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A
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OJ—F (Stock.java)

class Stock extends IntLabel{
private static final int max=30);

// P B&

/| AR DBERFES B
synchronized void buy(){
while(empty()){
try{ wait(); §
catch(Exception e){}

b

super.dec();
notifyAll();

;

/| AR DIZHEHES B
synchronized void supply(){

while(full()){
try{ wait(); }
catch(Exception e){}

b

super.inc();
notifyAll();

b
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O—F (Customer, Producer)

class Customer extends LabelUpdater{
Customer(IntLabel I, Stock s){
super(L,s);
b

public void run(){
while(true){
stock().buy();
inc(); // B oT-{E#% 50 &%
sleeping(1000);
h

h

)

class Producer extends LabelUpdater {
Producer(IntLabel 1, Stock s){
super(l, s);
b

public void run(){
while(true){
stock().supply();
inc(); // $H&n L T-{E %% 50 8k
sleeping(1000);
h
h
)

M A ThreadDH T (B )75 X
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